
640 LC4 SUPERMOTO ORANGE 2003 <2003><EU><972630>
INSTRUMENTS / LOCK SYSTEM

1140

Pos Part Number Description Additional Text Quantity

3* 58411003200 MASK SUPPORT LC4 03 1.00

5* 58214069051 rubber grommet 16x10.8x3 3.00

6* 0021050003 washer DIN 9021 A - 5.3 3.00

7* 0985050003 Self locking nut DIN 985 M5 3.00

8 0014060103 HH COLLAR SCREW M 6X10 WS=8 3.00

9* 60014069000 MULTI-FUNC.-DIGITAL-SPEEDOM. 1.00

10* 58214069150 SPEEDOMETER SENSOR ADV. 2002 1.00

11* 0084040083 CYL.HEAD SCREW DIN0084-M 4X8 A 2.00

12* 55011022100 CLAMP D=6/8MM, BLACK 2.00

16 58411066100 IGNITION LOCK 99 3 SWITCH POSITIONS 1.00

17* 58411066244 IGNITION LOCK+TANK PLUG S/A98 1.00

18 0985040123 FLAT HEAD SCREW DIN7985-M 4X12 2.00

19* 40011166100 KEY BLANK LC4/DUKE/LC8 1.00
* = New part


